EEEAR| S5 5. 74 5.
=3 =1 = =§
g @J - ﬁ ﬁ nJ—_E pE, K =5 I/\ 221230243194
1. EXESR .
-5- =
BB ERREE I ERES =W S00 B 1748
ey = N
PR FWIEXE-15210
TIEA R EfHERE | %‘fl] Bl g By EEGRER EF‘EE 98 ¢ 9 HiMomMTHa 8 ’%‘fﬂ 6& 35 2
2. TEE - GAETEA
il EORL LITLT
BXEH T 4 Xl
A F o & B
WMo LA 1 TH48—1 [36012]
ERE DKL XTLH
% k%
M & o & 5
% k%
5 H @ & o
EER _AKMEE1 —1 [07509 1355]
3. HE R
i H % [262]
e == ] =~
B O PG—FWI1EXE] ‘mm@i’klslzsc
UJS\‘ e, N i P H 4 i HL
HEOBK |0 i v v o [ogs | BER N 11700 ]
; . — i
-} [ Z3 & e
RERE | 4090, | RRER 249804 S| 198, " 949.] B¢ | 378 cn
o r.— e e "~ -~ | Al = iy A k
AIT ATl B 3310 ke AIl 1% i B2 33104 % mijdh & 33904 % 1% Wil &= 39304k RS RXIIEBHED 19. 91 :
RO | o o BAIEER L HAIR 5
4. F% !
[EM] , BiEwE, WEEEA i
[ZYEEﬁﬂ]$d28$2H12D R B 50%&%%%5
Bk 2 7RI 5 0t b
{Eﬁiﬂiﬁﬁfﬁu (NOx - PM) #&, ZOBBENEROFRIMINOG |
+ PV AUEA T, i
[tﬁﬁmﬁﬁmﬁ]679 000km (£fM543A1R) E
[Etﬁﬁ%ﬁﬁrmlssa 700km (Hf44£2H8280) |
ik 1 3 FEE i, ﬁﬁmﬁs;amura 99dB |
[ZRHEB] i e
Emﬁﬁmﬁﬁﬁﬁﬁm&m]ﬁmgﬁ?ﬁﬁ%ﬁﬁv
SRIRIE] SE .
[Eﬁl%ﬂ—%]46~0031 5
[%@ﬁ&ﬁﬁﬁ][llzlﬁﬁmﬂﬁﬁﬁ (920) WS
Z 1{8 300L :
PLIF4&A
£ 7156 E
[ )

R AT ARBEAOERE 20 5

H@E 1D

|T9464KV6894397

£/156S



